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Peak flux: 0.827+/- 0.420 c/s/cm?

Grey line: exponential fit

1 flue

Black line: power law + gauss fit Fluence : 10.69+/- 4.89 c/cm?
Dashed line: power law 0 ) )
Duration|: 48.12+/- 22,37 s
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Exponential fit
Expon. time: 20.44+/- 9.81 s (chi’*-red= 1.19)

Time [s]

- Byt bt 1 ! | b bt E
= *++***Wﬁ*ﬁ% #H“HW*MHﬁ*ﬂﬂw HﬂwW**+H*++*H+****Hﬂﬁwﬁwﬁ++***+SWWﬁmw***+**+*%HH*Hﬂ*ﬁwﬁwWwH*WﬂwWM
= | I | =
; Power law fit é
E Power law index: -0.724+/- 0.298 (chi*-red= 1.20) =
= + ! Bt 1 } | bbbt E
= ﬂﬁﬁﬁ:ﬁwwﬂ ﬁﬂ%ﬁﬁwﬂ;WﬁﬂﬁﬁmmwWmHﬁﬁﬂﬁﬁwﬁWWH+wﬁﬂﬁmﬁﬁﬁwﬁ gﬁﬂwwwWH+ﬁﬁmwmWjﬁﬁHﬁwﬂﬂﬁﬂﬁﬂ%ﬁ%ﬁ
= + + + =
i‘ I T T T T T T T T T I T T T T T T T T T I i
— Power law fit plus Gaussian (st.dev.= 21.23+/- 7.22 s, fracgs= 0.96+/- 1.02) =
- Power law index: -1.399+/- 0.455 (chi*-red= 1.20) 3
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